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2019(Odd) Old Syllabus

Sem. V/A.A.
QSC & Val

Time : 4Hrs.

Full Marks : 80
Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question
carries 4 marks.
gu-B 9wt uig gl & SR <, UAD U BT AH 43b e |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & it ufg 9ol @ SR <, TAS UeT &1 A9 83 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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10. What is measurement book (MB). What (i)

information should be entered in each set of

measurement?

HY—Y&id T 27 YAS q1dl & d9¢ d q1

T AT YA HAT A1(RY | i)
11

OR(3721d)

Distinguish clearly between any four:

(1) Rough cost estimate & detailed estimate o
(11) Revised estimate and supplementary estimate

(111) Administrative approval & technical sanction
(iv) Sundries & supervision charges

(v) Dismantling & demolition (iv)
fodl arR ¥ weea: faug -

(i) Y% BIEC YTabd U4 faga gradd-

(ii) YIRI&T YTddhel-l Ud YR YTddhol=l

3 37505

qradhel, DT Ud do e 4 [a o
gfed BT oo Hel SrdT 2 |

The plinth area ............... is not included.
(a) Bed room

(b) Kitchen room

(c) Wall area

(d) Cowdyard

ficdier aawa W efie &Y Bar 2 |
(1) wrae p&

(@) feaa w4

(@) AR &1 g%

(=) si=

Preliminary estimate based on per unit basis
for roads and highway is..............

(a) Per km

(b) Per hectare

(c) Per cubic meter

(d) All of the above

P.T.O
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Define overhead cost with examples.

AHRES DT I ST & a1l IRATT

B |

8. Define any four:
(1) Years purchase
(i1) Market value
(i11) Scrap value
(iv) Salvage value
(v) Sinking fund

8l g~ & aR¥T X |
(i) ST axAS

(i) ATd T deY

(iii) ¥U deg

(iv) ETeds dey,

(v) Rl v

0T5062

(vi)

(vii)

(vii)

(viii)

5 37505

® e -IRIST &1 YTaer= ghar 2 |
(@) =1 ¥ ui= gfaea
(@) dura 9 <u yfaeE
(W) <9 9 u=sw gfoem
(?) gz 4 i ufoea

Index plan is known as:
(a) Site plan

(b) Layout plan

(c) Key plan

(d) All of the above

Unit measurement of DPC is............
(a) Cubic metre

(b) Square metre

(c) Per metre

(d) None of the above

P.T.O
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What is the difference between site plan and layout

plan?
ATse WF R d—3TSe W § T 3fax 272

Define plinth area and floor area.

ftdier & 9%al Ud FollX 9% &l IRHATST
ford |

OR (3121a1)
Define carpet area and circulation area

PRUC GFbe Yd IRBAT SHABA Bl
gyt ford |

Calculate quantities of materials in 10 sq. m of

cement plaste (1:6) 4
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x)

(xi)

(xi)

(xii)
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AM$ AeYe} % ST MHR T B |
(31 19 I x 9 A x 9 AL

(@) 20 €.+ x 10 9. x 10 9.
(&) 20 | x 10 9H.x 5 9.

() 19 9. x 9 AL x 4 9L

A document containing detailed description
of all the items of works (but their quantities
are not mentioned ) together with their
current rates is called:

(a) Tender

(b) Schedule of rate

(c) Analysis of rate

(d) Abstract estimate

SrTeird oy «&rd & 9f wel uq

(an) fafaer

(@) <X @1 fAEior
(F) <X &1 fagayor
(]) UTadel-T BT AR

The covered area of a proposed building is
150 m? and it includes a rear courtyard of

5m x 4m. If the prevailing plinth area rate

of similar building is Rs 1250 /m2.What is
its cost

(a) Rs 187500/-

(b) Rs 212500/-

(c) Rs 162500/-

(d) Rs 375000/- PTO
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Answer all Five Questions.

xx) gl gard & 999 »Is feadl gufa

URIT SITdT @ ol 98 99fd ... BT &8l
SITdT 2 |
(@) HaaD
(@) A9
(4) 1l © wiferd
(]) WX
GROUP B

4x5=20

gl uig g & SN o

2.

What is the difference between plinth area estimate

and cube rate estimate fore building.

il dawd YTabd 3R R 3T YTdhald

N T FHa¥ 2
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(xiv)

(xv)

(xv)

(xvi)

9 37505

100 g9HIex 1:2:4 HpIlc 991 & foIg
............ IR ®Id Wi ari |
(31) 86 ©-1. I

(9) 88 =1 .

(&) 92 =1 #I.

() 96 =1 #I.

The value of demolished material is known
as

(a) Scrap value

(b) Salvage value

(c) Resultant value

(d) Any of the above

(31) ©bu

@) Hredst gou

(\) g gea

(]) Sugad ¥ Hig Td

The gradual exhaustion of usefulness of a
property is known as:

(a) Devaluation

(b) Revaluation

(c) Depreciation

(d) Sinking fund
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